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L1.8 Quiz 

 Answers 

 

1.8. Angular Averaging 

1.8a. In a 2D conductor the angular average of nx
2 +ny

2
 is 

 (a) n 2
 

 (b) 
n 2

2
 

 (c) 0  

 (d) 
2n 2

3
 

 (e) none of the above 

 

Explanation: nx
2 +ny

2 =
1

2p
dq

- p

+ p

ò n 2 cos2q + n 2 sin2q( ) = n 2
 

 

1.8b. In a 2D conductor the angular average of nxny  is 

(a) n 2
 

 (b) 
n 2

2
 

 (c) 0  

 (d) 
2n 2

3
 

 (e) none of the above 

 

Explanation: nxny =
1

2p
dq

- p

+ p

ò n 2 cosq sinq =
n 2

4p
dq

- p

+ p

ò sin2q = 0  

 


